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Kepler OO0 IIOO0OO0OO0OOOTOOODOOOO(l.20000000000

(z+ae)®  y° P p
T+b2 azl_eQ,b:ﬁ, (121)

000000000000 (l.®) 00000000000 ooUooooooUo

1T—/T12'ﬁ— b
20 = ; 27“g0 = mao,

O00T=27ab/c0000000O0O(1.21)000000

T2 — 472 a?b? _ ﬁa:;
c? k

oboocooOoboTrTooobOobobb e0bobooooon 0

01.130<e<100000000 (£.20)00000000000000 (2.21)0000
000D0e=10000e>10000000000000000000000000000000000
000000 (¢f. (1.£1)0000000000000

0 1.14 2x(0)0 £(0)000000000000O0O0O0 e0O0OOO
z(0) =7(0)e, x(0) =7r(0)e, (r(0) > 0)

000000000000 ReSOB)00000y(t)=Rzx(0)0000000(1.24)0& >0,& =n=0
000000000000000000000000000000000000000 ¢,(t) =0, y3(t)=0

1 k
00000o0O000oOo0o0oooOoOo(r.19)boo0ooooooooooo Ezéyﬁf—uuum
U1

200gQ00 30 D00oO0O0oOoOoOoOoOo
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O00O0O0OO0F=0004(0)<0000000000000000O00O0 ¢, 00000 y1(t.)=0

oooobooog

0004 (0)>000 E>00000000 ¢t— 3 (1)00000 (@000000000)000 4(0)<0

gbooboobobooooobobooobooboooooboooboo

2 Jodgo

21 OOoO0doobbooooobo

oooooi1gboooooga
dx
T::fk(taxla"'vwn) k:]-,"'an

oooobooog

xi(a) = by E=1,....n

000000000000000000000000000 « = Y21,...,2,), b = ¥(by,...

Yf,...,f) 000000000 (2.1),(22)000

dx
i f(t,x) xz(a) =b

gooooOooon
od 2.1 0000 n000000
™ = f(t,x 2, ..., a"Y)

O (21)00000000000x,=2%1Y, k=1,...,n00

fk(t7x17~-~7zn):zk7 k:17vn715 fn(t7l'1,...,$n):f(t,l’l,...,l'n)

ooooooo

00 2.1 (LipschitzOO) 00 QCRxR"00 (R"00)0000 f(t,2) 0 20000 Lipschitz [

00000000000 L>000000000 (4a),(ty) eQ0000

[f(t,z) = f(t,y)] < Llz —y|

000000000000000«=(z1,...,2,) €eR"000 |z|={>}_; |z} 00000

(2.4)

021 fz)=|z|*,2€eRO (1)a=1000 ROO Lipschitz0 OO OO0 (2) a>10000000
00000 LipschitzDDOOODODORDODODO LipschitzDODOO00D0(8)0<a<10000 00000

OO0 Lipschitz0D0OO0O00D00OOO0ODO

021 f(t,x)0 20000000000 DCRxR"O0000000 00000000 C'O00

000 f(t,z)0 20000 DO Lipschitz0 00000

00 2.1 f=4f,....f,) 000 I00R*"O000000000O000O0

\/Ifdt]s¢n/l|f|dt

00000000/, fdt="(f, fidt,..., [, fdt) 0000
/Ifdt :zk:(/lfkdt)zgnml?x(/l|fk|dt>2gn(/1|f|dt>2 0

13
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ood:




021000: POOOOOODOOO (ha),(Ly)eDO0<0<10000 (t,0x+(1—0)y)eD. 00
241/2
DDL:mmm%Dbﬁdg%@@)} 0oooo

1
0 Sl = | [ o0+ 0= 0w

IA

0
W/ Z\Ti(wxﬂl—@y)\lmk—ykmegwmx_m g
0 k=1

00000000 (23)00000000f(t2)000 DCRxR"0000000(a,b) e DOOOD
R={(t,a); [t —al <z —b <p}CD (25
00 rp>00000M = /nmaxqer|f(t,z)|, a =min{r, F} 0000

00 2.2 f(t,2) 0 RO LipschitzD 0000000000 (28)000 I=ja—a,a+0]0000000
0000000000000000 «(te,b) 000000000

Ubd:000000b0oboooon

(t):b+/ f(s,z(s))ds (2.6)
00000000 2(t)00000000000000O00OO0O
00:000 {z,()}000000:
¢
xo(t) = b, xm(t):b+/ fls,xm—1(s))ds (2.7)

0000000000000 21000 |zmt)—bl<Mlt—a <aM <p0000(¢z,(t) e ROOOO
0 (27)0000000000 f(t,#) 0 Lipschitz 00000 LO (24)0000000000

< Wrllt—a)” (2.8)

[T (6) = ()] < 2

gbooobdobOm=000000000000m>1000m—-10000000000000A0

rmia®) =m0 < | [ 176mn) = Fosm1()} ] < VL] [ o(s) = o) ds
< (m_L);;P /a |8—a|m_1d3’§Wp

D000DooOYy Yokt cevile c o0D00000m >m, 0000

mi—1 mi—1 Lo k
max [ () -2, € Y max Joea() - mo) < > D

t€la—a,a+a] ) t€la—a,a+al o)
=maz =ma

0000{z,()}0000000000 Cauchy 0000000000000 0000000000000
0000000[e-a,a+0)00000000 2()00000000000(2.7)0m—oco0000000
00 «(t)0 (26)0000000000(00000 (27)0 {z,}00000000000000000)

000: 2(t),y(t)0 (26)00000000000 Lipschitz 00000

/ [2(5) — y(s)] ds|.

000000 Gronwall 000 (p=0000)000 |2(t) —yt)|=00000 O

|(t) —y(t)] <

<+/nL

/{fsx F(s,9(s))} ds
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00 2.3 (Gronwall D00 ) o(t),4(t),w(t) 000 [¢,b) 00000y >0000000000

w(t) <o)+ [ ¢(s)w(s)ds  (a<t<b) (2.9)
oooo a
w(t) < o(t) + ZM$¢@kﬂwwwu® (a<t<b) (2.10)
000000 a
00: v(t) = [ ¢(s)w(s)ds D00 DO (s) = (s)w(s) 000000 (290000 ¢(t) >00000

o' (t) < p(t)p(t) + P (t)u(t).
godoogno20000o0ocouooogo e*fiw(u)d“DDDDD
d

dt

000 eO0O tDDDDDDv(a):ODDDDDDD

(U(t)ef f; w(u)du) < zb(t)cp(t)e* fi w(u)du

t
o(t)e™ Ji vt < / () (s)e Ji P gg.

t
DDDDDMQS/d@W@kﬁ“meﬂﬂﬂﬂmﬂm@%DDDDQDDDDDDDDDDDD@J@
oooo O

0 2400 220000 f(t,2)O (tL,z) 0000 C"0O0D000000O z()0 Ccr*'oooDO

00:02t)0 (26)0000000000 O

d
D22DDDDDAgzm;ﬂ®:1DDDDDDDDDD(QWDDDxMﬂDDDDDDDDDDD
0z,() 000000000 z(t)=e* 0000000000000

02300000000000000000 (/KM] p.49, p.56.22)
(1) o' =2z—-1, z(0)=1 (2) ' =trx, z(0)=3
(8) ) =1 +x9, 2h =21 — 1, 21(0) =1, 22(0) =2 -1

024 2"4+2=0. 20)=0,2/(0)=100000000 2’=y,y =—-z,2(0)=0,y9y0)=100000
U0o00boOdbdsint,cost OO OODOODOOODOO

1 . ) "
ooo: A= 000000 ( ™ ) = (T+tA+ 54244 Sam) “© ) gooo
0 Ym " y(0)

00 2.2 (1)00 2200000000000 Lipschitz0 000000000000 0OOOc>0000

z(t)=(t—c)* t>¢ z(t) =0, t<c

d
D;%:QMU{MW:ODDDDDDDDDDQJDDDDDDDMP@Dm:ODDDDDLmummD

gbooood

2Ly, ) 000000000000 () 00000000000000000000 )0 t=e¢0000000000¢00
0000 g(t) =Y en(t—a)* 0000000000 ¢t=e¢00000000000000000000000000000(000
00000 Cc*0000n)

2200 2.300: (1) (14€2)/2, (2) 36t°/2, (3) 1 = V2, 20 = (V2 — 1)eV2 hint: (3) @1,m () = X7 o (V20)F /K,
zam(t) = (V2-1) 3P (V2t)k/k 000000 (0000)000(1),(2)0000
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(2)00 220000000000 f(t,)DODOOUODDOOOOUOOOOOOOOOOO

00 2.5 f(t,z) 0 RODOOOOOO0OOO0O000 (28000 I=[e—a,a+a)0000000000
O00D000R,«00 (25)000000000000000

OO00000O000DDOO0O0O0 Ascoli-ArzelaOOO00O0OOOODOO

00 2.6 (Ascoli-Arzela) compact00 K C R*"O00000000 {fa(x)}rea 000 (), ()OO O
000{f\(2)}xea 00000000 compact, 10000000000000000000(@0O0000
ooo)

(I)  sup sup |fa(z)] < o0 (ooo)
ANEAzEK

(II)  lim sup sup [fal@) = ()] =0 (oooo)
d—0 xeA z,yeK:|z—y|<d

00: {z,}CKOODODODODODOOOO@MOO000 meNDODD {f\(2m)}rea 000000 Bolzano-
Weierstrass 10 00000 00000000000000000000000000 {\}cAOO0D0OO
Ym eNOOOO {fi,(2,)}2, 00000000000 {f,,};2, 000000 Cauchy 0000000
00000e>00000000000d)000006>00000

g
wp s @) - f)l <
AEA zyeEK:|z—y|<d

D000000O0K O compact 00000 M € NO K € UM_ Bs(2,,) 000000000 Bs(z) =
{y;ly—2/<6}000000000 z1,...,2, 0000 k,ODODODOO

ki>koOOO Vm=1,...,MO000DO mg%gfhm%n<%
D000000000Vee KOOO |z —am| <600 me{l,---,M}00000

[Fxi (@) = P (@) < [ (@) = P (@) 4 [ (@) = S @) [ 4 [ (2m) = fx (2)] < &

oooooobooooo O
00 25000:002200000 (26)000000 z¢)0000000000000O00x,()0O0

000000003 ty=a+La, k=-m,...,—1,0,1,...,mO0
Tm(a) = b
l'm(t) = .’L‘m(tk)-l—(t—tk)f(tk,xm(tk)), tr <t <tpy1, k=0,1,....,m—1
Tm(t) = .Z‘m(tk)—‘r(t—tk)f(tk,l“m(tk)), tho1 <t<tp, k=0,—-1,...,—m+ 1.

00000gn(t) = f(teom(tr)) te <t <tpy1 (k>0), th_1 <t <t (k<0) 00000

t
T (t) = b+/ gm(8) ds (2.11)
0000000000210 MODOO (25 000)000
[Tm () —xm(s)] < Mt —s|,  stefa—aa+tal

000000000000000s=¢000000000000000Ascoli-Arzela000000 {z,(t)}
000 compact 0 0000000000000 {2,(t)} 00000000000 2()000000000
2000000000 {zn,} 0000000000000 OOOOODOOODOOODOODOO
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0000 {g.(H)}0 f(t,2(t) 000000000000000 f(t,2) 0 compact 00 ROOODOOO0O
000000000:>000000000006>000000

(s,2),(by) e Rils =t +]e—yl <6 = [f(s,2) = fLy)] <e

00000000{z,(1)}0z(¢)0000000000N e NOOOOOm' > NOODO |z (6)—(t)] < 6/2
000000000N > max{N, 22y qogoom > N 000

)
[t =t + e (t) = ()] < [tk =t + fem (te) = 2ow (O] + 2 () —2()] < (1 + M)t — 1]+ 5 <0

000 |gn(t) — f(t,z(t))| <e00000000000000000000(211)0 m' - co00000
O0«z(t)0 (26)00000000000 O

d
D25DDDDDAgzmgﬂm:1DDDDDDDDDDDDDxMﬂDDDDDDDDDDDDxm@
000000000 z(t)=e*00000000000000000=100000000

026 000000000000000000 (KM p.6224)
(1) ©'=3x+4+2, =z(0)=0 (2) 2/ =—-x-2, =z(0)=1

22 0OOO0O0ooOobDOO

DCcRxR"000 (000000)000feC(D;R")OO000

00 2.2 V(t,2) e DOOO (4,2) 000 UOO0O00D0 fO0UDO0 20000 LipschitzD 0000000
f000 LipschitzD0OOODOOOO

0O00Lip,(D;R") 0 DOOOD LipschitzDOOOOOO00000 2100 CY(D;R") C Lip,(D; R™)
00000000000

f € Lip,(D;R™), (ag,bp) e DOOOOD0DDOO
dx
E:f(t,x) z(agp) = bo (2.12)
0000000000 (a,bp) 0000 f0O LipschitzOOOOOOOOOO 22000 oo >00000
Iy :=lap—ap,a0+ ] 0000000000 z(t;a0,b0) 00000000 Oa; = ag+ g, b1 = x(a1; ap, bo)
DDDDD(ahbl)EDDDDDD x(al):b1DDDDDDDD (2.12)DDDDDDDDDD 22000
oy >00000 I :=[a1 —a1,01+ ] 0000000000 z(t;a1,0,) 00000000000000

.T(t;ao,b()) :x(t;al,bl) telpnNly

000000000000 «(t) = 2(a0,bo) (t € Ip); 2(t) = z(t;ar,by) (t€ ;) 00000 0z(t) 000
000 (212)00000000000000000000000000O0000O0O0O0O0O0O0O0O000

00 2.7 f € Lip,(D;R™), (ag,by) € DOODDODOODO (212)000 [ag,a) 000 () 00000
tm a1 00000b; :=limy,—oez(t,) 0000000 (a1,by) e DOOODOOOOOOOOOOOOO
O (t,x(t)) — (a1,b1) (t1a,)000000000000000 2(t)0 00000000000000
00000000000000000000

O00: (a1,01) €e DOO e > 000000 R =A{ta);lt—a1] < gle—b| <ey Cc DOOOOO
M. = /nsupg |f(t,2)| 00004y, 1, 00 a(t,) -, 00000000 NODODOD
€

m>N o 0<a; —tn 3

3
< L |z (tm) — b1] <

240 2.6 00: (1) 2(e3 —1)/3, (2) 3e7t —2
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0000000000ty <t<e 000 z(¢)0 (212)0000000

j2(t) — 2(tw)| < / (s 2(s))] ds < Ma(t — tn) <

tN

| ™

0000 |z(t) —b1] <lz(t) —z(tn)| + |ztn) — b1 <e. O

00 2.8 f e Lip,(D;R") 000000000 (2172)00000000000000 (a,w) 00000
0000000 t|laortlwlOO (t,2(t) -0DOOOODOOOO compact 00000 ADDODDO
[a1,w1] C (a,w) 000000t € (a,w)\[a1,w1] 000 (¢,2(t)) e DNADDOOD

00: (00)200000000000 =@),y) 00000000000 [a,w), [a,ws) (w1 < we) 00
O00¢, =inf{t >alz(t) £y)} 00000t <w,t, <w,. 00000e>00000

z(t) =y(ty) OO0 () #yt) (te <t <ty+e)

0000(,2(t) e DPDO000000000000 (212)0000000000000000000000
0000000000000000000
(00)w=0000000000w<o00o000 {tm} 00000 ty »wDO (tn,2(t,)) €eADO0O00
0000000AD compact 00 00000000000000000 (b, 2(tm)) — (w,b,) € AOD b,
00000000000000002700000000000000000000000 O
ICR,D=IxR"0000000000 (212)0000000000000000000

00 2.9 D=1xR", I=(tg,t) (—oo <ty <t <o0)0 feLip,(D;R") 0000 (ag,by) € DODOD
000000 (212)00 2(t)00000000000000000

If(t,z(t) < Alz(t)|+ B A,BO t000 z()0000000 (2.13)
0000 «(t)000 1000000000

00: 0000000000(MO000) ()0 w <t 00 [0,0) 00000000000x(t) 0
a(t)=b+ [, f(s,2(s))ds0000000

WUHSMM+¢5/‘USWGDMSSMM+¢5/(AM@N+BMM

A=0000 |z(t)| < |b|+ vAB(t —a) 000Gy, |2(t) <coDOOOD000D0 2700000000
00000D0A>00000

t

0 < [a(t)] + % < Jbl + g + ﬁA/ (2(s)] + %)ds

ai

0000 Gronwall OO (00 23)00000

B B
< \/EA(tfal).

000000000 limg, |2(t)] <ccDOOOO000000 27000000000000000000
w=t, 0000 ]

d
00 23000000000 IDDDDDDDDDDDDDDDDDDDp>1DI][IDD—:E::UP,

dt
2(0)=1000
w(t) ={1—t/(p— 1)} V=V
00000 (213)000000000000000000¢t—p—1000 2(t)1ec0000(@O000O
ooooo)
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3 Uooooon

3.1 0ODO0ugdaobo

uboabilgoooboan

ditc =AMz +b(t), tel:=(to,t1) (3.1)

000D00(-co<ty<t;<o0) J00DA()ODO0D0D000000O0-000000b() 0 R"000
000000K=0000000,000000000000000
000rO0D0000 A=(a;) 000000000 |4 O

1= (3 o) (32)

i,j=1
ooooon
00 3.1 |Az| < [|A]]z].

O0: SchwarzOOOOOOOOOO

e = 3[Sas| < 32 (SlaP) (Sles) = JAPIaP. O

i=1 j=1 i=1 j=1

‘2
00 3.2 (00D00DD00000000)Yae,€) eI xR"O000000 2(a)=¢000000000

(5.1)0000 z(e,b) 00D0OOO0ODOOODO

oo: V[To,Tl] C (to,tl) ogooood C1 = MaXr,<t<ry ||A(Zf)||7 Co = MaXr,<t<ry ‘b(t)| ogoooooo 3.10
O Atz +b(t) <calz|+c00000000000000 2900000 O
3.1.1 000000

00000 (3.1)0000o00ooooouoooooooo

dx

5 =AMz, ale)=¢ (3:3)
00000 z(t;e, ) 000000000

V={x(;0,6); EcR"} (3.4)

gbooooood

00 3.3 (00000000) (1) VOOOOOOOdimV=n0000
(2) vi,...,v, € VODDOOOOOOOwy,...,v,0 VOOOOOOOOODOOO te[(000000¢tel)
0000 w(t),...,u(t)0 R"O0000000000000000

O0: (1) 0000000000000V, E eR™, Vaj,aa e ROODOO
arz(a,81) + aox(5a,&) = z(a, € + azf’) (3.5)

00000VOO0O0000000000e =41,0,...,0),...,e, =0,...,0,1) 0000 ¢ = z(-;a,ex)
00000VE="¢é,...,6,)0000035) 000 x(5a,8) = Yr_; Expr-

O000¢y,...,0, 0 VOOOOOOOe,...,¢, e ROODOO 1014+ npp, =000000¢t=a00
00 cre1+-++cpep, =0000c1=--=¢,=0.0000¢1,---,9, 00000000 dmV =n00
00(2) vi(t),...,vn() D R"O000000000y,...,v, 000000 dmV =n000000v,...,0,
0vVOOOOOO0OO0O0O v(t),...,v(t)0 R*O0D0000000000000000¢,...,¢,000
00 Y, ¢u;(t)=00000000000000000 o()==(st0(t)00000 (3.5000
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chvj( = x( th] (t,0)=0

gooO0Ov,...,v, DO00O00O00O0OC0O0DOO0OO0OOCODOOOOOOODOOOO0OOODOOO0OO0 ]

00 3.1 00 330000 ¢, 0000 n00000 R(t,a) = (p1(t)--9a(t)) 00000000 R(t,a)
000000 (3.3)00000 (resolvent matriz) 000000000

000000033000000000 2(44,8) =R(tae)000000

00 3.4 (0) Rt,t)=1(@000)
(1) R(s,t) = R(s,u)R(u,t) (8 u,t€l)
(2) R(s,t)0000 R(s,t)"! = R(t,s)

(3) %Rcs,t) = A(s)R(s.t), %R@,t) = —R(s, ) A(1).

Oo0:(0) 00. (1) VEeR"OOOOOz(s;u, R(u, 8)€),2(s;¢,) 000000 2’ =A(s)2 000000 u
0000 z(wu, R(u,t)é) = Ru, 1), = 2(u;t, ) 0000000000000 =z(s;u, R(u,t)§) = x(s;t, ).
00000000000 R(s,u)R(ut)é = R(s,t)é 00000000000
(2) )0 s=t0000 (0)00 I=R(tt)=R(twR(ut) 000000
(3) RODODODOD 4o, = A(s)p, 0000000000000000000000R(®,s)R(s,t)=T00

o0+«0000boooon
OR

ot
0000000000000000000000000

R
ot

(t,s)R(s,t) + R(t, s)aa—]:(s,t) =0

QR(S t) = —R(t,s)™"

o (t,s)R(s,t) = —R(s,t)A(t)R(t,s)R(s,t) = —R(s,t)A(t). O

00 3.5 (Wronskian, 00000000) % = A)z0000000 #1,...,2, 0000 U(t) =
(z1(t)---z,(t) 000000000

t
det U(t) = exp </ tr A(u) du) det U(s) (3.6)
00000000A=(a;;) 0000trA=an+--+an, 0 AOD (trace) 0000

031n=3000000 85000000
000 yt) :=detU@t) D000y () = {tr A(t)}y(t) 0000

032 AH)00000000A(L) =-A) 0000002 =A@z 000000000
(1) 00 |z(t)|=]2(0)). (20000 R(s,t)00000.
000: (1) La))? =0, (2) 2{'R(s,t)R(s,t)} =0 000000

00 3.6 vy,...,v,0 (33)0000000000,000000 V()= (vi(t)---ve(t) 0000000
038(2)000 V() 0OODODO00000000 R(t,e)=V(#)V(e)"'000000000000000

O00: vg(t) = z(t;a,vr(a)) = R(t,a)vp(c) D00 V() = R(t,a)V(e) OOO OO OOO O
3.1.20000000

goboobooooboobooooboboo

dx

& =AM (), wle)=¢ (3.7)
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00000 a(te,6) 000000 A 0000000000 33)00000 2(t;e,¢) 0000000
00000000000000

Vi ={z(5a,8); E€R" 5 Vo= {mo(50,8); £ €R"} (3.8)
oooo

00 8.7 (1) 2, €V, 0000 Vo ={zo+xs; z9 € Vo }.
(2) (0OODO) R(s,4)0 (330000000000

x(t;a,8) = R(t,a)€ —l—/ R(t, s)b(s) ds. (3.9

O0: (1) 2’00000« VeeV, 000 &:=x—12,0
gmznqox+ww-4A@n*+ma)=A@m

000 eV, 0000(2) ()OO ¢=000000000000 34000

i{Lﬂwﬁwg@}

R(t,0)b(t) + /t A(t)R(t, s)b(s) ds

mﬂ+m0/ﬂwﬁw@@ 0

0 3.1 (1)(000)00000000000000000000000000000000000 mé=
—kz0000(=%2)0000000

T x d T 0 1 T
= gooobooobog — = goooooood
T x! dt \ xo —w? 0 29
x1(0) 1 0 coswt w1l sinwt
= , gooooooono ) , gbooooooo
x2(0) 0 1 —wsinwt coswt

t— “lsinw(t —
00 R(t,s) = cosw(t—s) wsimwlt=9) ) 00550 EEL0) = a(0)=b0000

—wsinw(t — s) cosw(t — s
b .
x(t) = acoswt + — sinwt
w

O0000000w=+k/mO0O0OO
(2)(0000)000000000000O0O0O0OO0O0O0OOOOO f)ODOOODOOOODOO

i+ w’z = f(t), f(t) =ecosvt
gogooboobboogo
b(t) =0, f(t)) D00DOD (3.9)00000:

€ ( sinw(t — s) cosvs ) - ( sin(w(t — s) + vs) + sin(w(t — s) — vs) )

w 2w

R(t,s)b(s) = —
(t, 8)o(s) wcosw(t — s) cosvs wcos(w(t — s) —vs) +wcos(w(t — s) + vs)

(i)w#v000

2(t) = z1(2) [R@@(Z)+A%W@W@@ 00 100

b
= acoswt+ —sinwt + (cosvt — cos wt).
w

€
02 _ 2
(i) w=v000
b . €, .
z(t) = acoswt + — sinwt + —t sinwt.
w 2w

0000@G) 0000000 lmy—e |2(t) =cc00000000000000 (resonance) 1000000
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3.2 DUOooobooboooon

3.210000000

M,(C)0 n00000000000(3.2)0000 ADDOO |40 M,(C)0O C¢¥ (000 R2)0
0000000000000000000000000000000000

00 3.8 A,BeM,(C)0 ceCOOD
(0) llcAll = lell Al (1) A+ Bl <A+ 1Bl (2) |AB| < [[AlllB]|-

00:(0)0000(1)AD00D C” 0000000000(2) Schwarz000000 A = (ai;), B = (b;)
ooooo

n n n

IABJ? = zn: \zn:aikbkj < 3 (S laal?) (X 1owsl) = I4lPIBIP. O

ij=1 k=1 ij=1 k=1 k=1

‘ 2

00 3.9 Ae M,(C)0000

UL |
1) S, (A) = —A*0 ||-||0 Cauchy00DDOODOOOOCY 000000000 OOOOOOOO
k!
k=0
00000 eA0000

d
Q)dAﬂeR)DtDDDDDDD(DDDDDDD)DDDDadA:AdA

O0: ()m>m 00000 38000

IS ) = Sl =] Y A X SIAIF =0 asmn -
k=m/+1 " k=m/+1 "

(2) ()00 VR>0000D0 || <ROO {Sn(t4)}000000000000006400000000

d m
%%wf;

m—1
Rt AR =AY %#Al = AS,,_1(tA)

=0

@“p—\

!

d
DDDDDafm:AﬁADDDDDDDDQDDDDl:kleDDDD O

00 3.10 Ae M,(C)000000O0O0OO0OOOOO

dx
i Az, z(a) =¢ (3.10)

0000000000 z(t) =et®4 0000000

00: 000000000002(@) =4 94¢0 (3.10)0000000000 39 (2)00000000
O

00 3.1 008100 AD¢t000000002 =A()20000000000 L4Wdgnpooon
0000000 A0 [fA(w)du00000000000000000000000DO0%»000000
0ooooo

00 8.11 A,Be M,(C)0O000O
(1) 00 (a)~(¢)000000:
(a) AB=BA (b) et4esB = esBetd (5,t € R) (c) ethelB = eHA+B) (¢ ¢ R).
(2)eA0000 (eA) P =e4
(3000 POOOOOP AP =P AP,
(4) det e = et 4.

2900000000000 200000000 A(t)=a(t)I+b(t)C (CO0D00D0)00000000000c¢f. [K] p.101.

22



O00: (1) (a) = (¢): m—o0o000

[[Sm (EA) S (EB) — S (t(A + B))|| <

s WEAREy e

>~ —
1<k, l<m:k+1>m+1 kli! 2([m/2]!)?

0000000000C =max{|[tA|,|tB|,1}00000(c) = (a): t0000 200000 ¢t=000
O00A%2+24AB+B*>=(A+B)?00000000 (a) = (b): Spu(tA)Sp(sB) = Spu(sB)S,,(tA) 00
0000m—oo0000000() = (a): 000 s,t0000000s=¢t=00000000

(2) A0 —AD0O00DDO (1) ()00 ete A =eA"4 =1,

(3) P71AKP = (P71AP)* ke N, 000 P1S,(A)P=S,(P7'AP) 00000 m —»oc 000000
oo

(4)0035000000000000000 O

eA00o0o:
Al 0 Ak 0
() ADDDDOOO0: A= ooo Ak = o0
0 An 0 Ak
et)\l 0
> Lk
etA: LAk::
k!
k=0 0 6t)\"

(b) JO Jordan 000D DO: ¢, =¢tk/K1 0000,

A1 0 -+ 0 to t1 to -ty
0 X 1 : 0 to t
_ tJ _ A
J = 0 OO0 e =e 0t
A1 to tq
0 0 X 0 0 to

(00000 AUOOUOCO0OOD POOOODOOUOOUOUOOO JordanOOOOOOOOOOODO
000311 3)oooooo:

Ji 0 et 0
PlAP = g 00 P letdp =P AP =
0 Iy 0 et/r
000 Jordan 0000000000000000000000000000000000000000O
oooooooo
00 3.12 Ae M,(C)0000O00000000O
B(N) = det(M — A) = (A — A)™ - (A= A\)™ (3.11)
0Do0o0%0A,...,A, 00000 ADOOOO my,...,m, 000000000000000P,00000
000Gy, ={z€C;(A-\I)2=0}000000000000000:
(1) P,...,P,0000000000P?=P;PP;=0(i#j);Pi+--+P=100000
(2) 1<l;<m; 000000 ,;00000WI—-AY'P;#0, (\I—A)LP; =0.
(3) N=A-37  ,P00000NDODO0O0OOOOOOOOO“N =070 “A00000070

‘“4G@“@=---=1.=170000000000000
60Qgpooo0000000000000O0O0o0oo
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(4) P,0 A000O0OO0O0OO0OOOOO AO0DOOOOOO
A000O000O00O00DO0PR;000 LagrangeDOOOODOOOO:

- ngkgr:k;éj (A - Ak[)

P = G=1,...,r) (3.12)
! ngkgr:k;ﬁj(/\j _)"f)
ADDDDDDDDDPjDDDDDDDDDDDDD:
1 hl()‘) h7()‘)
— ey 7 3.13
SO0 (- Ay A (3.13)

0000000000000 000000
1=hi(A)gi(A) + -+ + he(A)gr(A).
000 g;(A\) =®\)/(A-X)™ 000000000
Pj = h;(A)g;(A) (3.14)
oo0ooo?7o
00 3.200000000P,....P0A00000O0OOOOOOOOOOO0
AzZZﬂM3+N (3.15)

00000000Y AP0 ADODDOOO,NODOOODOOODODOO0O0D0000 AQ JordanO 0,
00000D0D000D0D000000N=00000A0D0000D0000O000 AQ P,000000
00000000ADDOOOOODOOOO(AODDDOOOONONDOOOONO0DNO000000000
ooo)

00 3.13 00 s12000000A00O0O0O0O00O0O A,...,P 00000
t’l’njfl

d t
tA _ E Ajt Z(A =\, T
e e {I—i— 1!(A NI+ + (m, — 1)1

Jj=1

(AfxﬂwWA}a (3.16)

0o0O
00: et =e4(P+---+P)0000

etAPj — 6t<A7>\jI+)\j])Pj — et)\jlet(Af)\jI)Pj — et)\jet(Af)\jI)Pj

00000 A-ADEP=0000e4P; =™ Y0 L (A- NP, 00000028 O

. 1 — . 1
P1:A‘+Z‘I:1 i ’ P2:A. 21.21 i
tt 2\ ¢ 1 —i—i 2\ —i 1

0000(P,=P,0000)000000¢* =cost+isint 00000

. . cost sint
e =P e Py = )
—sint cost

27000 fAN) =A"4+a A" 14 dap_1A+a, 0000 f(A) = A"+ a1 A" 1+ +a,_1A+a, ] 000000000
0o
28(3.16) 0000 (A-X\DkF=0 (k>1;,) 00000 00000000000000000000

1
oo 3.1 (1)A=< 0).DDDDDDDDi,—iDDDDDDDDDDDDDDDDD
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01 1
(2)A=11 0 1 |. ADDDOODDOOODOOOOOOOOOOOO -1200),20000000
110
(3.12)000
A—2 1 2 -1 - A+T 1 b
p="""_"| _ - Pp="-==
-1 -1 2 11 1
O000OeA =t +e22P, 0000
1 01
(3)A=] -1 2 1 |. ADDDOOODDOOO AN =1(200), 2 =20000A0000000
1 -1 1
000000o0oooooo0o0O0D000O00ooO0O PL,P,0000OD0
1 Y 1

D120 —2) (=12  A—2

0000001=-AA—2)+(A-1)200000000

01 0 1 -1 0
P =—A(A-2I)= 01 0|, RP=(A-D*=]0 0 0
-1 1 1 1 -1 0
-1 1 1
O000P00000000 A =2000000L=m,=10000000A@-DPi=| -1 1 1 |#
00 0
oooooo
01 0 -1 1 1 1 -1 0
e = eI+ t(A-1)}IP +e¥Py=¢! 01 0 [+t =1 1 1 |+l 0 0 0
-1 1 1 00 0 1 -1 0
033 0000000000000000000 z(0)=2,0000
3 —4 -2 5
1 Tz = T. 2) ' = T.
oo (1w ee(2)
1 2 1 2 2 6
(3) =1 -1 4 x. (4) 2'=| -1 -2 —4 |«
2 —4 0 1 1 -3
6 -3 -7 3 1 -1
(5) = -1 2 1 |« 6) = -1 2 1 |
5 -3 —6 1 1 1
1 1 -1 2 8 —4
(7) 2= 0 1 0 |= (8) = 1 10 -4 |=
0 -1 2 3 28 —11

o0o0: (2)0000 4. ¢,—00000000O0O0OOO Pl,PQDDDDDE:PQDDDDDDD
1 0 . -2 5
x(t):{cost(o 1>+smt< ) 2)}%, (8)[][|[|[||:||:||]
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—1 0 0 0 |+ 0 5 0 |+ 10 5 50 20

4 —-16 4 1 16 —4 . 6 56 —24
et cos 2t sin 2t
x(t) = xo
1 -4 1 -1 4 4 14 144 —-56

034 (¢f. 00 57)0000000000000000000 2(0)="1%0,00000 ([KM] p.89.)

, (3 -1 et , 1 4 [0
(1)3:-(2 O>x+<et>. (2)x-<15>x+e3<1>.

, [ -2 1 _, [ cost , [ -8 9 . 3
(3) x<_2 O>x+e <Sint>‘ (4)x<_4 4>x+smt<2>.

322000000000
goobooOo 31200000000
00 3.14 (Cayley-Hamilton) (3.11)00000 ®(\)00000®(A4)=00000
O0: A= (a;;)0 e1 =%1,0,...,0),...,e, =%0,...,0,1) 0000 Ae; = arjer + -+ apje, 00
ajjer + -+ (aj; — A)ej + -+ anjen, =0, 1<j<n.

ooooooboooooon

a11I —A CL21] s anlI el 0

a12[ a221 — A e Clngl €9 0
= (3.17)

aind aonl oo appd — A en 0

00000004000 a;0000000a; = ayl, i # 4, a5 =al —ADO0D0D000 “007(ay)
0000000 A(A)0D0000000A(4A)00000 ADDODDODODOOODOODOOOO0OOO0
A(A)0D000 (317)00000

oA O - O el
o o4 . e | |0
O - 0 B4 en 0

000200000®(A)e;=0(1<j<m)000000®A)=00000 O

n00000 ADDDOOOO (3.11)000000000000C"00000
Gy, ={z; (NI -A)"z =0}

0 0000000000000000000000:

00 3.15 G, ®---®G, =C" (@00000000000000)

00 3.16 A0DOO0O fi(\),...,£(\) 000 20000000000000000000
Ej={z; fj(A)z=0} (=1,...,r) Eo:={xz; fi(A)-- f[r(A)z =0}

0000 Ey=Fo---0L 000000000000
00 AD0DDOOO00O0 BOOOO BA=(detA) /0000000000000
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|:||:|:TZQDDDD(DDDDDDDDDDDDDDDDDDDD)|:||:| 200000000000000
Oo0o00gno h,he ODODOODO
JiN)h(A) + f2(MNha(X) =1

0000000000 A000 ADODODOO
FL(A)RL(A) + fo(A)hy(A) =T (3.18)
0000Vz000 21 = fa(A)ha(A)z, 22 = fL(A)M(A)z00000z=2,+2, 000000000
fi(A)zy = ho(ANf1(A) f2(A)x} =0, fo(A)za = h(A){f1(A)f2(A)x} =0

0000z € Br,zo e ;0000
0000000D000D0D0xe EQOOO

T =1+ T2 = Y1 + Yo, 21,41 € By, w2,y2 € By

0000000000000z:=21—y1 =yp—22€ BNE,D00000 (3.18) 000 2z = hy(A)fi1(A)z+

00 3.15000: 00314000 ¢(4)=0000000(3.11)000 31600000000 ]

00 3.12000: (1)000 316000 31500000000 PRPj=0(i#j),Pi+---+P. =100
o0oO00OP?=P(P+---+P)=P0000() 00000000

()0 (MNI-A)™P,=000000000000pA)=A-A)"---(A=X\)0000 p(A)=00
O00000¢(A4)=eA){P+---+P}00000

P(A)P; = {H1<k<r:k#(A — MDY HA= XD P =0

00 ¢(4)=00000(00 ¢0000000000)

(30000 N=A-Y"_ NP =" (A-\1)P,00000A0 Py,...,P,0000 PP =0 (i # )
00000 N =Y (A-X)"P;=0000 NOOOOOOOON=0000hL=...=1, =1
0000000AO00DDOO0000O0O0O0O0OO0O0O0 TO00000 T 'AT=D(DO0O0O0OO)0O0
00000000000AT=TDO0OODOOOT=(,---1,)0000001;000000 A 0000
Al; =\, 0000000A000000 Fy={z; M-A)z=0}00000b,...,l, € F\,& - &F),
O0O00F, @ ---®F, =C'00000000F,, 00000 P,O0000(A- NP, =000
O00ON =Y (A- NP, =0000000004 =+ =1, =10000000 31600
F\&---@F, =C'000000le R, 00 Al=\I000000C0001,...,L,0 F,...,F, O
000007 =(4---1,)000007-'ATO000000000000 (3.12)0000000000 (3.13)
0 e\ 000000 A\)0000000000000000 hj(A)g;(A) 000000000 (3.12)0
0000000000000000000 (3.13)0000 1/e\) =a1/A—=A)+---+a,/(A=X.) 00
0001 =a1g1(\) +-+arg:(N), (g;(A) := oA\ /A=A,))000000A=X00000 a;g;(\;) =1
0000P; =g;(A)/g;(\,) 000000000000(3.12)000000 O

0ooD0D00000000000000000000000000000

27



3.3 ODOouooooo

gooobil1bobooboo 000000

d"x d"lz dz

00000 f(y) 0000000000000 0OOO0OOO0OUOf()=0000000

d"x d" 'z dx

0(3.1900000000000000a(t),...,a,(f) 000100000000
00000000210000 28=2kY k=1,..., 0000000000000

0 1 0 o .- 0
xt ! 0 0 1 0
2 2
d € 0
- = A A= .21
dt : : ’ (3.21)
: : : 0
x T 0 0 cee e 0 1
7an 7(1‘”71 ... DEEY 7a2 7a1

00000000260 (3200000000 Ya(t),2'(t),---,2"" V()0 (3.21) 0000000004 (t),
22(t),---,2z"(t)) 0 (321) 000000 2'(t) 0 C*-00 (3.20000000000000 3300000
317000000 (3.19) 00000000 n000 21(8),...,2,() 00000000000000000

00 317 100 C* 1000 2(t),...,2,(t) 000000 Wronskien (10000000) W(t) :=
zi(t) o za(t)

I(t I (¢
210 Zu(t) OWt#£000000000000000
T BRI S )

00: i)+ +eazn(t) =000000VA000 c12™@) +--+ ) =000000000
Wronskian 0 0000000¢; =+ =c,=00000 O

00 3.2000000(¢319)0n000 21(t),...,z,(t) 000000000000 Wronskian O W(t) # 0
O00000000000000(%21)00 trA(t) = —a,(t) 00000000 3500000 W(t) =
e~ fimwduy (o) 00000000 teld W) #£000000VtelO0 W(t)£00000

3.3.1 000000000

oooooooooo 320000000 aq,...,0,0000000000000000O(1.21)0000
gboboooooooo

BN :=det(A — A) =N+ a NP+t a,_ A Fay

0000000 (311)0000 &(A) =M\ —A)™ ---(A—=A)™ 00000000(\,...,A- 00000
000)00000e() =41,AA2,..., A" 1), p(A) = (0,...,0,®(\) 00000

Ae(X) = Ae(A) - (V)
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0000000 k0000000
Ae® () = xe® () + ke (\) — pF(\)

000000 p®(\)=0,(0<k<m;—-1)000000¢j,=e®N\)/k, (1<ji<r;0<k<m;—1)
000000

Aejo = Ajejo, Aej i = Ajejk + € k-1,

O00OP=(e10 " €lm-1"""€o€1m-1)00000P'"AP=J000300000

A1 0 0
Imy (A1) 0 e 0
0 (M) . 0 x 1
J = e 2 ) J’fﬂ(}\) O
0 A
0 0 Jm. (M)
0 0 A

000J,(A) 0 Jordan 000 mOO0000000000000000 3.11(c)0000 €4 = pet/ p~1
000000(321)000000000000000000000000 000000000

6t/\1,t6t)‘1,'”,tml*let/\l;et/\z,tet)‘Z,“-,tm2_16t>‘2;-~-;et/\”,t€t>”“,-~-,Ifm“"_let/\“" (322)
000000o0o00o0O000O0 10000000000 (3200000000000 OUODOOOUDOO
0O0oooos32o
00 8.2 (1)a"+2" —a'—2=0. (2)2"+22'+52=0. (3)z"" +22" +2=0.

O: ()D3+D?>-D—-1=(D+1)*(D-1)000000x = (c1e”t + cate™) + c3et.

(2) D> 42D +5=(D+1+2)(D+1-2)000000x = ¢;e"1H208 4 cpe(-1-20t — et cos 2t +
cae tsin2t. 0000c3 =c1+co,ca =i(c; —ec2) 0000

(3) D*4+2D*+1=(D?>+1)?=(D—-)*(D+4)?000000x = cre® + cate® + cze™ + cyte™ =
(C5+tCG)CObt+(C7+t68)blnt O000c¢s =c1+ce3, c6=ca+cq, cr=1i(c; —c3),cs =i(ca—cy) OO0 DO

3.3.2000000

00000000 (31900000 ay,...,6,00000000000000000037000000
00(3.19)00 2,()0 10000000 (3.20000000 2(¢)00000z,(t)+z(t)0 (3.19)000
0000000000000000 2()00000000000

S s = [ 0

Ob:n=100000000,00000000000n+10000

»/to/to /0 f(tni1) dingadiy - dtl_/to/to Tn__sl f(s)dsdr
= [0 [ T = [0 T ] = [ g0

Bldet P =[], (A — M) 000000 (¢f. Vandermonde 00 00)0
3200 (3.22) 00000000000 (D—X\)™---(D—-X)™rz=0000000000000000 »00000000
(32000000000000000000000000D= 40000

oo 3.18
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gbooobOl10o0obooooboboo200010b0b000000bO000O000n (]

(H)oooooooooo:
(D —a)"z = f(t) (3.23)

DDDDD:%DDDDDDDDDDDD e~ 00000 LeipnizO OO OO0

n

DMe ) = (Z) (—a)fe D" Fg = (D — a)"x = e f(1)

k=0
o000 n0b00ooooobbbO 318000
t n—1 n
—at (t—s) - i—1
Sy e e CLES Wit
7j=1
gooogo
- P s
_ ‘tjil at a(t—s d
x ch e +/t =1 e f(s)ds
Jj=1 0

00000000000000 100 (3.23)0 f()=000000000000OOOOOOOOOOO
000000000 0ooooooM@-e)"z=f¢t)0000000000O00O00O0OOO0O:

t _ n—1
(2)00000:
P(A) = \" _|_a1)\n—1 4. +an—1)\+a'n _ ()\ _ Al)ml ()\ _ Ar)mr’

O000M#M\ (k#j)00000000000000000O0

PO G T A 529
gogooboobobooooon
z(t) = ﬁf(t) = hl(D)m S+ +hr(D)m ft) (3.26)
000000zt 0 P(D)z=f()00000000000
ggd
B 1 _ _ t(t—s)mk_le,\(t—s) ) ds
) = oy 10 = [ e e

00D0001)00 (D—X\)™ f(t)=f(#)0000000P,A) :=PA)/A—=A)™ 0000 (Pe(A) O
0000000000000)0

P(D)x(t) = P(D){hi(D)fr+ -+ he(D)fr}
hi(D)PL(D)(D = X)™ fi+ -« + b (D) B (D)(D = Ar)™ fr
{h1(D)P1(D) + -+ -+ he(D)P-(D)} f

000032500 hy(A)PL(A)+---+h(N)P.(\)=100000 (3.26) 0 P(D)z = f(t) 000000
ooooo O

(3)00000: f)O0000O0O0O0DO0OO0OUOOOUODOOOUOOOOOO
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(a) PD)x=c(cOO0)OO
O00P0)=a,#00000Dxr=---=D"z=0000000 x=c/a, 000000
O00PWO)=00000P(D) =DPQ(D), Q0) # 000000000 DPzx =¢/Q(0), 000z =
(c/Q(0))-t?/pl0D0D0OODODODO
(b) (1—-D)z=ct™ 00O
1-D)Y1+D+---+D™)=1-D™' 0000000 (1-D)1+D+---+D™)t" =™ 00
O0z=c(l+D+---+D™tmO000000000
(¢) PD)x=c™O0O
PO)£A00000P\) =P0O)(1-XQ(\) (QNO00D0)0D0000000DO (M) OO0O0OD

(1 - DQ(D))(1+ DQ(D) + D*Q(D)? + -+ + D" Q(D)™)t™ = (1 — D" Q(D)"™ )™ = t™
000z = (¢/P(0))(14+ DQ(D)+ D*Q(D)*+---+ D™Q(D)™)¢tm 000000000

P(0)=000000P(D)=DrQ(D) (QOOOD0D0 QO)#£00000)00000Q(D)DPz = ct™
0000DPz0000p000000000

(d) P(D)x=tme* 00
(D+a)(e~z) = D(e~x)+ae r=e ' 000000000 p0000 (D+a)k (e %z) = e=%2®)
00000000e “P(D)r=P(D+a)(e ®z)=t"0000(c)0000000

() f(HOODDDOOOOOODOOO
0000000 k=1,20000 2()0 P(D)z = fx(t) 00000000 z(t) + 22(t) O P(D)x =
A+ f()00000000000000000

oooooo0O0o
00 3.3 (1) 2" +32 — 2z =263 —t (2) " —2" +a' =1
(3) 2 — 32 +2x =te”" (4) 2" + 2x = tcost (5) 2" +2' +x=¢e +t

O: (1) (D2+3D—2)z =20 —t000000-21-3D-1D%)z =26 -+ 000
1 1

- (Pt ot
T T 1 ip-1pe (= +31)
3 1 3. 1. \2 /3 1 3 1
- (1 (fD fDQ) <7D sz) (fD 702))43 b
<+ pP T ) gP ) T 5P s (=431
3.1 39 1 , 9 57
= (1+D+4 —D? —DS) 24 )= 3 — Z#2 — 16t — —.
(*2 F DA D)5 ot 16—

000000 a; = (-3+V17)/2,a2=(-3—-+/17)/2000000¢c1eM + coe® 0000000000
cr1eMt + cpet2t — 3 — 242 — 16t — 2L
(2)(D3-=D*+D)x=(1-D+D*)(Dx)=t300000
1
Dz = ———— t*={1+(D—-D* +(D—-D?*?+ (D —D*)*}t*
v = —prpr 0= (D= D)+ (DD + (D D)t
= (1+D—D*t* =t*+3t> 6.
0000z=t/4+3—6t. 00000000 N -XN+A=000000X=0,(1++3i)/2000000
ooooooo
T = 1 4 cpet/? cos(V/3t/2) + czet/sin(V/3t)2) + t1 /4 + 13 — 6t.

(3) e(D? —3D +2)x = ((D—1)2—=3(D —1) +2)(elz) = (D?> - 5D +6)(efx) =t 000000
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00000000 X -3)A+2=000000X=1,20000000000000
_ ot 2t —t
x =cire’ + cae” + (t/6 +5/36)e".
(4) cost =Ree* 00000000 (D2 +2)z=t*00000000000000
e (D 4 2)x =
it 1
Zx:
1+ 2iD + D?
x = e'(t — 2i) = tcost + 2sint +i(tsint — 2cost).

(D +i)* +2)(e"a) = (D? +2iD + 1) (e "x),
t=(1—(2iD+ D*))t =t — 2i,

00000000 A2 +42=000000XA=+/20000000000000
a::clcosx/it+02sin\f2t+tcost+QSint.

(5) (D?*+D+1)x = 000000e Y (D?*+D+1)x = {(D+1)*+D+1+1}(e"tz) = (D*4+3D+3)(e tx) =
— _ 1 1 _ 1 _ _ 1 _

D00 let+¢—1000000000000 X+ A+1=000000A==-%5000000000

agood

i V3

1
t/2 in—¢t+-e+t—1. O
Sin 5 +3e+

3
xr =cie /°cos gt + coe

0 3500000000000000 (/K] p.77.3)
(1) 2" +x =1t (2) x" — 3z’ + 2z = te* (3) " + 22" + 2 =sint

(4) ="+ =t -2t (5) 2" — 22" + 4z = e’ sint (6) " +a' =2cos®t —t + e

4 00000003
gboogob 200000000
p(t)x"” +qt)’ +r(t)z =0 (4.1)

O0000oooooo =(¢) :Zfzocn(t—a)”DDDDDDDDDDDDDDDDDDDDDDDD
p(t),qt),r(t) 0000 x=0000000000000000000O00O00DO0O0O0 e=00000
0000000 x=00000000000000000000003

4.1 p(0)#0000

0000 p(0)£20000000000000000 p(t)000000000000p=1000000
¢(t),r(1)00000000000000000000:

g(t) =D gmt™, ()= rut™ (f<r000) (4.2)
m=0 m=0
00000z({) =30 ,cnt™000000000000000¢00
(oo} oo
Z(t) = Z mept™ ! = (m+ 1D)epprt™,
m=1 m=0
2'(t) = Y m(m—Dent™ 2 =" (m+1)(m+ 2)cppat™
m=2 m=0

30 3.500 (00000000000000000000000): (1)#2, (2) (3t2—1)e?, (3) —4tZsint, (4) $¢3—2t2 +4t,

(5) —%(3cost+sint), (6) —%sin2t +t— 1t2 4 et
3000 [Kuy OOO: 0000000 0000 000000 (00000000)0
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000000000 (41): p(t)=100000

o0 oo

Z (m4+1)(m + 2)empat™ + Z gmt™ Z (m~+ 1Depmprt™ + Z Tmt™ Z cmt™ =0

m=0 m=0 m=0 m=0 m=0

goboooob 20003000000

oo

Z [i gm—k(k + 1)Ck+1}tm, i [i rm,kck} tm,

m=0 k=0 m=0 k=0

0000000000000 0000+™ 00000000 {¢n} O

(m4+1)(m+2)emia + Z G-k (k + 1)cpa1 + Z Tm—kCk = 0 (4.3)
k=0 k=0

000000000000000000000000{¢,}0 co,e; 00000000 (co = 2(0),¢1 = 2'(0)
00000000000000)0000000 (42)0000 |f<r-000000 (4.3)0000 Y, cmt™
0Jtl<r0000000000000000

00 41 00000 2" 4qt)2 +r(t)z=00000000 ¢@),r#)0 |t—a/<r00000000
00000000000000000000000 2()0000 jz—a/<r0000000000000
0o0:

o}

x(t) = Z em(x—a)™. (4.4)

m=0
0000¢ =2(a),e1 =2'(a) 0 ¢y (m>2)0 (4.4)00000000000000000c¢g,e; 0000
goooooooog

00:a=000000<p<r0000000%,, ¢mp™ X, rmp” 0000000000 M>0000
00
lgmp™ | <M, rmp™| <M (m=0,1,...)

00000(4.3)000

(m 4+ 1)(m +2) el < Mp™™ Y [k + Dlersa| + lexl]o*
k=0

000000000000000{A,}0 A= e, 41 =|e| 00

(m + 1)(m +2)Apsz = Mp~™ S [(k + 1) Apgr + Alp* + MAyip (4.5)
k=0

000000000000000 e <4,00000000000
(m +2)(m + 3)Amisp

=Mp™™ > [(k+ 1) Aksr + Axlp® + M[(m + 2) Ay + Amalp + M Ay, y2p°
k=0

=(m+1)(m+2)Ami2 — MAmy1p+ M[(m +2)Apiz + Apialp + MAm+2p2
= [(m+1)(m+2) + M(m +2)p+ Mp*| Ao

ooood
Amis _ (m+1)(m+2)+Mm+2)p+Mp* 1
— - -, m — o0
Ao (m+2)(m+3)p p
000000 Y, Axt™0 |t|<p0000000000000 Y, ent™0 |t|<r000000000

good |

33



041 2" +w?rx=00000000000000000

z(t) =3 ent™ 00000000 Y j(m+1)(m+2)cmiat™ 4+ w? > cpt™ =0
000000+ 00000000000

w?

Cm+2 = _(m+1)(m+2)cm

00000000c¢, = (—w)"/(2n)!, cant1 = (—w?)e;/2n+1)!0000
z(t) =cpcoswt+cysinwt 000000000000 O
0 4.2 (Legendre000000) (1 —t3)a" —2t2’ + a(la+1)z=0 («000)00000

0000000000000 00O00ooOoOg<10000:

o0

2t P - a+1__m 5

DDDDDDDDaﬁ%:ZﬁﬂgﬁmDDDDDDDDDDD(DDDDDDDDDDK
oo
Z [(m+2)(m+ 1)cmiz2 — m(m — 1)ep, — 2mey, + ala+ 1)yt =0
m=0

ggoooobobbbe, 0000000 OnO
(m+2)(m+ Demgz + (@ +m+ 1) (a — m)ey, = 0.

DDDDDCQn:lgnCO,CQn+1 :lzn+161|]DDDDDDD

(a+2n—1)(a+2n—-3) - (a+a(a—2)---(a—2n+2)

l2n = (_1)n (2n)| )
B pla+2n)(a+2n—-2)- - (a+2)(a—1)(a—3) - (a—2n+1)
bt = (71) (2n)!

O00000000z(t) =307 o lont®, z2(t) = > 00 jlop1t** T 000000 z(t) = comr (t) + cra2(t)
00000000
0000000000000000000 000000020 >a000¢,=00000000
00000000« =0,2,400 2:(¢)0 1,1 —-322,1—-10z + (35/3)z* 000000 « 0000000
2n+1>a000 ¢y =00000a=1,3,5000 zo(t) 0 2,2 — (5/3)23, 2 — (14/3)z3 + (21/5)a"
O000000Legendre 00000 «000000000a0000000000000000 Pu(t)0O
P,(1)=1000000000 Legendre 00000000000P,(t) = 254 (> -1)*000000

20! dte

(¢f. O00O0UCODO OOOUOOOOO OOO0O0O pd3. 00000 p.7122,p.127120000000)

041 000000000000000000 (/K p.26.3)

(1) 2" —ta' +22=0 (2) " +tx' =0 (3) 2"+t +x=0
(4) =" —t2x=0 (5) (1 —tHa" —4tx’ —22=0
O 42DD§LW%$(%V”DE%(#%#X%PwlﬂﬂﬂﬂﬂDD(l—ﬁn”—&f—4x:ODDD
00000000 ((Ku p.26.)
0 4100: (1) a1 =112, 22 =t — §8 = £32, G2l () n=1 wo =t + 3000, B Dty2n

— 4n+1
(3)’”122?0((23'! " T2 =2l 0%752 L@ e =1+ 300 1m: wa(t) =t+ 3200 1% oooo
Q4n+k:(4n+k)(4n—4+k)"'(4+k)(k*—LO,l) (5) z1(t) = 1/(1 = t?), 2(t) = t/(1 — t7)
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O 4.3 Chebyshev DO DO D00 (1—t)2" —ta' +a?x=000000 ([Ku/ p.26. 3)
(1) 0000000000

(2) «00D0000000eDO000000DO00O0OO0O0DO0

(3) «=0,1,2,30000000000000

(4) t=coss0000000000O0O0OOOOOOOOOOOOOO

4.2 00000

00000 41)000eOD0OOO
(t —a)*z” 4+ q(t)(t — a)z’ +r(t)z =0 (qt),»(t)0 «0ODODOO) (4.6)

000000000000 (41)00000000000O0O0O0O0OOOO0UOOOUOODOOUOOOOO
0000 Frobenius OO OOOODOO
gboooboobooobbobibode=000000000000D0O0O0DOO:

t22" +tq(t)x’ +r(t)x = 0. (4.7)
q(t),r(H)0 t=000000 (4.2)000000000000000000000

x(t) =t i cpt" = i et tP (co #0) (4.8)
n=0 n=0

000000Y, "0 |t <r0000000000000000000 (4.7)0

o0 oo

Y (pn)(p+n—1)c, "t + i at® D (p+ m)emt? T + irktk i et =0

n=0 k=0 m=0 k=0 m=0
ooodoooo 20003000000

Z [Z(P + k)(Infkck:| e Z {Z 'f'nfkck] e,
n=0 k=0 n=0 k=0

00000000000000000 00000000 ¢, 0

plp—1)+qp+ro = 0 (4.9)

n—1

N U+ k) nr +rarler (n>1)  (4.10)
k=0

{lp+n)(p+n—1)+(p+n)g +10}en

00O000000oo0O0o0o00
49)0 46)0000000000000000 200 p,p,000000000000000000
p1, p
ooO

00 42 0000000000000 (46)0000000000000000
(i) pp—p, 000000000

21(t) =17 en(p)t”,  ma(t) =2 calp)t”  (co(p1) # 0, co(pa2) #0)
n=0

n=0
(ii) pr—pa=1(100000)000:

oo

21(t) =) " en(p)t”,  wa(t) = cxy(t)logt + 72> cn(p2)t™.
n=0

n=0

—a?)(22—a?)(2n—2)%—a?) ,on —a?)e(2n—1)2—a2) ,on
0 4.300: (1) 21(t) =1+ Yz, EoE =@ cat)2n gy (1) = 14 ooz, Ume)l@rollimat) 2ndl
(4) y(s) = z(coss) 0000 d2y/ds? + oy = 0.
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(i1) 0 colpy) 000001 =0000 c#0, colpe) =000001>1000 ¢o(p2) #00 ¢0 0000
000000 @G), (i4)00c(p1), colpz),c000 2 000000000000000000000O0000
0000000000000000000000000 ¢),r(¢)0000000 |f<r000000

00000: (000000000000000000000000)
(i) p—p. 000000000

I(p)=plp—1)+qp+710, Jkn(p) =(p+k)n—t +Tn—i (4.11)
00000 (4.10) O

I(p+n)ea(p }:@n (n=1,2,..) (4.12)

00000000¢, 0 p0000000000000 ¢,(p)0000000 I(p+n)#0,n=1,2,...,0
000000 (412)0000{ca(p)}n>1 0 co(p) 00000000000000000000p, —p,00
00000000I(p+n),I(p+n) (n>1)00000000000000000000000p = p1,p2
00000000 (412)0000 ¢,(p) 0000000000 (4.7)0000

tip) =Y calp)t"  (p=p1,p2) (4.13)

000000000000000000000000000000000000 |¢<r00000000
0Oooooooo

(i) p—p:=1(100000)000: 00000 ()000 colpy) =100 (4.12)000 cn(py) 000
00000(4.13)000 «(;p)0000000000000000000001=000 z(;p)0000
0000000>100 I(pa+1)=1(p1)=000000 (412) 0 (pp) 00000000000000
0p0p,000000000000000

c(p)=1 (1=0), clp)=p—p (>1) (4.14)

000000000(412)00 cu(p) (n>1)000000000000(>1000

I(p+Dalp ZJkl

0000 I(p4+1) = (p—p2)(p+1—p) 00000 ex(p) (k=0,1,---,1—1)000 p—p, 0000000
O00p—p, 000000000¢(p) 0000000 ¢u(p) 0000000000 (4.13)0000 x(t;p) 0
2

0 0
£ Szt p) + a()tzoa(t p) + r(t)a(t: p) = —co(p)(p)t” = —cop)(p = p1)(p = p2)t*
00D0O00D0O00D p000000000¢0 p000000000000 (00000000000

ooooo)
2

E;ng@m}+ﬂ)ihf(“MYH“WSFWM}:_@_MNQMWP

00000=0000 K(p,t) =[2+(p—p1)logt], 1 > 1000 K(p,t) = [3p—p1—2p2+(p—p1)(p—p2) log ]
0D0000000p—p00000(00)-0000000(&(tp))=p,0 470000

a [e.e]

—a(t; } )t TP2 log t 0)t" P2 = 2(t; po) logt 0 )t P2,

[8;)33 P s T;)Cn p2) og +nz% z(t; p2) log +nz;)<3
O0001>10000 ¢c(p) =p—p200000 co(p2) =c1(p2) =---=c-1(p2) =0. DOOOOO

S en(po)ttte 0 e =t 0000000000000 ¢+ 0000000000000x(t)0
0000000000000000000000000¢ 000 (4.14)00 d(p) =0 (I =0), ch(p) =1
(>1)000000 O
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0 4.3 (BesselOODODDDO ) t22" +ta’ + (12 —a?)x =0 (> 0)

t=000000000000000 plp—1)+p—a®>=0000 p1=a,pp=-a000000 420
0000z(tp) =t yeat" (0 #£0)000000000000000

0-cot® + [(a+1)% = @?ert®™ + > {[(a+n)® = a®len + cpa}t" T =0

n=2
0000000000¢ =0,
[(a+n)*—a?lcy+cno=0 (n=2,3,...) (4.15)
0000(a+n)2—a?2=na+n)#0n>2)0000c¢ =0000c3=c5=---=00000000
c -1 n27a72nc
DDDDD37DDDD COZWDDDD(ZLIS)DDD an:mDDC::lDDDDDD
Bessel DO OO OO
oo
(_1)" t\ at2n
Ja(t) = —<7) 4.16
®) Zn!I‘(l+a+n) 2 (4.16)

n=0

OO0000000 100 a0 BesselDOOODOOOO

Jolt) = ZO (J));(;)Q" Ty a(t) = \/Zsint, J_1a(t) = \/Zcost. (4.17)

0000J,,¢) 00000 all(14+5+n)22"+ = 2n)!1-(n+1)(n—3) - - 30(3)2" T = 2o)!1(2n+1)!/7 =

2n+1)ly/mOsint0 Taylor 000 0000000D0D0DOJ_,(t)000000000000

pp=—a0000000 p —p,=22000000000004.20 ()000 (4.16)0 J_ot) 000
0000000 Jot),J () 00000000000380

200000000000000000

2000000 Jut),Jo() 00 000000000000000(@0042G)0c=00000000
oo)
«000000: 0042 @G)0000000000000000 z(p)0 (413)0000000000
0000 ea(p) 0 (410)000000000000¢(p) =0,

(p+n+a)(p+n—a),(p) +cn_a(p) =0, n=23,..., (4.18)

0ooooo
a=00000c¢(p)=10000 (4.18)00

con-1(p) =0, canlp) = (=1)"[(p+2)(p+4) -+ (p+2n)] >

000000p00000 ¢4,(p) = —2¢20(p) Xhmy 535- OO0 p—00000a(t) = Jo(t)DOOODO
000

wa(t) = Jo(t) logt — 3 W (g)h (4.19)

ElD[I[I[I[IDDHn=1+%+~-~+%DDDDD(4.19)DD 200 00 Bessel OO OOODO

370(s) = [P e w1, s>0. 000000000000000 I(s+1)=s[(s) 00000000000 s#—1,-2,...0
000 I(s) 0000000000000
3300000000 000000000(1—a+n)00000000000000
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(0O000)0000¢(p) = (D)™ (p+m)(p+m—2)---(p+2—m) 000 (4.18) 00 can(p)

a=m
Oo0oo0oo0oao
_1n+m m—n—1 _2
(-1) @ﬁﬁ)kﬂ (p+m —2k) C<nem
[T, (p+m+20)
() ! nem
Cn = m =
P [T (p+m+20)
(-yee §
n n n m
Hk m+1(pim+2k)'nl=1(,0+m+2l)
=J,()0O0O000000

00000000000000 &,(p)0000 p—-mO000000a(¢)
T ( —n—l t\2n H,, fty2m
e OB 10)

za(t) = - ( )7 { = m! \2
)" (H nl+-Hh)(;)2n}4—Jm(ﬂlogt

+ Z m)!n!

n=m-+1
n” 0o0o0oooood

m) = =
(n4+m)!'n! 22"+m

M

(4.20)

000000000(4.20)00000000000 capnpm)(—m
000 (¢f. (416) 0 a=m)0(4.20)00 200 mO Bessel 000000
0 44 00000000000000 4200000000 (/Kuf p.873°)

122" + 3ta’ + (1 +t)x =0 (3) 22" +ta' + 2tz =0

(2)

(4) t*a" 2 +tz =0 (5)
0 4.5 Legendre 00000 (1 —t2)2" —2ta’ +ala+ 1)z =0 («000)00000 ([Kul p.37.4°)

(1) 2tz" +2' +tx=0
=0

t22" + 5ta’ +3(1 +t)x

(1) x=-1,10 Legendre 1000000000000 OOOOOOO

(2) x=1000000000000000000
(3) Legendre0000O00 z=(t—1°Y 2 c,(t—1)"0000000000000000000
0 4.6 (1) %"+ (A\2p%2P+ 1 —a2p%)2=00000 100 +a O BesselOO Jo(t), J_alt) (cf. (4.16))

00000VE (M), ViJ_(\#) 000000000000
(2) Airy00000 2" —te=00000x = Vt[erJi3(3t32) + eJ_153(3t3%)] 000000000

([Ku] p-45.)

390 4.400: (0000000000, Hy=0) (1) z1(t) = f NG LI TR S B I e LI 1)
: —0 87Ln’l"(n+§) ’ n=o 8”1’1,!1"(71«%%) ’
(@) @a(t) =" 3 Gt a @fxwmw—2z WHwnamxmwfgfﬁﬁﬂmm@:xwmy—
n= n=
& "Hp, & _ V)" (Hy+Hp—
2n2::0 (= 1()n'2) i 1", (4) z1(t) = RX:: ns(nllyt" 2(t) = —z1(t) logt + ¢ [ Z s >n<|(n 1 1)tn]
1= - . S Hnt+Hp nansn
(5) a1 (t) =t I,Z;)im2+2w , wa(t) = 9z1(t) logt — t 3[14—5t4—é§éA7§TE:§ﬁ3(— )m3n¢n]
S Otman (; _yn (1 - 1] <2000), 0000 (a)n =a(a—1)---(a—n+1).

00 4500: B)z@t) =1+ 3 27 (n1)2
n=1 )
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